# Extension of Furuta inequality with nonnegative powers for multi-operator 

Jian Shia,*, Junmin Han ${ }^{\text {b }}$<br>${ }^{a}$ College of Mathematics and Information Science, Hebei University, Baoding 071002, China.<br>${ }^{b}$ School of Mathematics and Information Science, Weifang University, Weifang 261061, China.<br>Communicated by Y. J. Cho


#### Abstract

We prove an extension of Furuta inequality with nonnegative powers for multi-operator. Then we show its application to Pedersen-Takesaki type operator equation. © 2016 All rights reserved.


Keywords: Furuta inequality and Furuta type inequality, positive operators and strictly positive operators, Pedersen-Takesaki operator equation.
2010 MSC: 47A63.

## 1. Introduction

A capital letter, such as $T$, stands for a bounded linear operator on a Hilbert space $\mathscr{H} . T \geq 0$ and $T>0$ mean that $T$ is positive and $T$ is strictly positive, respectively.

As an extension of Löwner-Heinz inequality ( $A \geq B \geq 0$ ensures $A^{\alpha} \geq B^{\alpha}$ for any $\alpha \in[0,1]$ ), T. Furuta in 1987 obtained the following famous inequality, which is called Furuta inequality.
Theorem 1.1 ([2], Furuta inequality). If $A \geq B \geq 0$, then for each $r \geq 0$,

$$
\begin{equation*}
\left(B^{\frac{r}{2}} A^{p} B^{\frac{r}{2}}\right)^{\frac{1}{q}} \geq\left(B^{\frac{r}{2}} B^{p} B^{\frac{r}{2}}\right)^{\frac{1}{q}} \tag{1.1}
\end{equation*}
$$

and

$$
\begin{equation*}
\left(A^{\frac{r}{2}} A^{p} A^{\frac{r}{2}}\right)^{\frac{1}{q}} \geq\left(A^{\frac{r}{2}} B^{p} A^{\frac{r}{2}}\right)^{\frac{1}{q}} \tag{1.2}
\end{equation*}
$$

hold for $p \geq 0$ and $q \geq 1$ with $(1+r) q \geq p+r$.
In 1995, T. Furuta proved a grand form of Theorem 1.1, which is called grand Furuta inequality as follows.

[^0]Theorem 1.2 ([3], grand Furuta inequality). If $A \geq B \geq 0$ with $A>0$, then for $t \in[0,1]$ and $p \geq 1$,

$$
\begin{equation*}
A^{1-t+r} \geq\left\{A^{\frac{r}{2}}\left(A^{\frac{-t}{2}} B^{p} A^{\frac{-t}{2}}\right)^{s} A^{\frac{r}{2}}\right\}^{\frac{1-t+r}{(p-t) s+r}} \tag{1.3}
\end{equation*}
$$

holds for $s \geq 1$ and $r \geq t$.
In 2008, T. Furuta proved an extension of grand Furuta inequality as follows.
Theorem 1.3 ([4], extension of grand Furuta inequality). If $A \geq B \geq 0$ with $A>0$, then for $t \in[0,1]$ and $p_{1}, p_{2}, \ldots, p_{2 n} \geq 1$, the following inequality

$$
\begin{equation*}
A^{1-t+r} \geq\left\{A^{\frac{r}{2}}\left[A^{\frac{-t}{2}} \ldots A^{\frac{t}{2}}\left[A^{\frac{-t}{2}}\left\{A^{\frac{t}{2}}\left(A^{\frac{-t}{2}} B^{p_{1}} A^{\frac{-t}{2}}\right)^{p_{2}} A^{\frac{t}{2}}\right\}^{p_{3}} A^{\frac{-t}{2}}\right]^{p_{4}} A^{\frac{t}{2}} \ldots A^{\frac{-t}{2}}\right]^{p_{2 n}} A^{\frac{r}{2}}\right\}^{\frac{1-t+r}{\phi[2 n]}} \tag{1.4}
\end{equation*}
$$

holds for $r \geq t$, where $\phi[2 n]=\left\{\ldots\left[\left\{\left[\left(p_{1}-t\right) p_{2}+t\right] p_{3}-t\right\} p_{4}+t\right] p_{5}-\cdots-t\right\} p_{2 n}+r$.
Furthermore, C. Yang and Y. Wang proved an extension of grand Fututa inequality for multi-operator, which is called Further extension of grand Furuta inequality.
Theorem 1.4 ([12], Further extension of grand Furuta inequality). If $A_{2 n+1} \geq A_{2 n} \geq A_{2 n-1} \geq \cdots \geq A_{3} \geq$ $A_{2} \geq A_{1} \geq 0$ with $A_{2}>0, t_{1}, t_{2}, \ldots, t_{n-1}, t_{n} \in[0,1], p_{1}, p_{2}, \ldots, p_{2 n-1}, p_{2 n} \geq 1$, then the following operator inequality

$$
\begin{align*}
A_{2 n+1}^{1-t_{n}+r} \geq & \left\{A _ { 2 n + 1 } ^ { \frac { r } { 2 } } \left[A _ { 2 n } ^ { - \frac { t _ { n } } { 2 } } \left\{A _ { 2 n - 1 } ^ { \frac { t _ { n - 1 } } { 2 } } \cdots A _ { 5 } ^ { \frac { t _ { 2 } } { 2 } } \left[A _ { 4 } ^ { - \frac { t _ { 2 } } { 2 } } \left\{A_{3}^{\frac{t_{1}}{2}}\left(A_{2}^{-\frac{t_{1}}{2}} A_{1}^{p_{1}} A_{2}^{-\frac{t_{1}}{2}}\right)^{p_{2}}\right.\right.\right.\right.\right. \\
& \left.\left.\left.\left.\left.A_{3}^{\frac{t_{1}}{2}}\right\}^{p_{3}} A_{4}^{-\frac{t_{2}}{2}}\right]^{p_{4}} A_{5}^{\frac{t_{2}}{2}} \cdots A_{2 n-1}^{\frac{t_{n-1}}{2}}\right\}^{p_{2 n-1}} A_{2 n}^{-\frac{t_{n}}{2}}\right]^{p_{2 n}} A_{2 n+1}^{\frac{r}{2}}\right\}^{\frac{1-t_{n}+r}{\psi[2 n]-t_{n}+r}} \tag{1.5}
\end{align*}
$$

holds for $r \geq t_{n}$, where $\psi[2 n]=\left\{\cdots\left[\left\{\left[\left(p_{1}-t_{1}\right) p_{2}+t_{1}\right] p_{3}-t_{2}\right\} p_{4}+t_{2}\right] p_{5}-\cdots-t_{n}\right\} p_{2 n}+t_{n}$.
The powers of grand Furuta inequality, extension of grand Furuta inequality, further extension of grand Furuta inequality includes negative powers. Recently, T. Furuta obtained an extension of Furuta inequality with nonnegative powers as follows.
Theorem 1.5 ([5]). If $A \geq B \geq 0, r_{1}, r_{2}, \cdots, r_{n} \geq 0$, then

$$
\begin{align*}
A^{1+r_{1}+r_{2}+\cdots+r_{n}} \geq\left\{A ^ { \frac { r _ { n } } { 2 } } \left[A ^ { \frac { r _ { n - 1 } } { 2 } } \left(A^{\frac{r_{n-2}}{2}} \cdots\left[A^{\frac{r_{2}}{2}}\left(A^{\frac{r_{1}}{2}} B^{p_{1}} A^{\frac{r_{1}}{2}}\right)^{p_{2}} A^{\frac{r_{2}}{2}}\right]^{p_{3}}\right.\right.\right. \\
\left.\left.\left.\cdots A^{\frac{r_{n-2}}{2}}\right)^{p_{n-1}} A^{\frac{r_{n-1}}{2}}\right]^{p_{n}} A^{\frac{r_{n}}{2}}\right\}^{\frac{1+r_{1}+r_{2}+\cdots+r_{n}}{\phi[n]}} \tag{1.6}
\end{align*}
$$

holds, where $p_{1} \geq 1, p_{2} \geq \frac{1+r_{1}}{p_{1}+r_{1}}, \cdots, p_{n} \geq \frac{1+r_{1}+r_{2}+\cdots+r_{n-1}}{\phi[n-1]}$, and

$$
\phi[k]=\left\{\left[\left(\cdots\left[\left(p_{1}+r_{1}\right) p_{2}+r_{2}\right] p_{3}+\cdots\right) p_{k-2}+r_{k-2}\right] p_{k-1}+r_{k-1}\right\} p_{k}+r_{k}
$$

There are many applications of the above-mentioned operator inequalities. See [7, 8, 9, 10, 11] for details.
In this paper, we shall prove an extension of Furuta inequality with nonnegative powers for multioperator. Then we show its application to Pedersen-Takesaki type operator equation.

## 2. Main Result

In this section, we shall show the main result.
Theorem 2.1. If $A_{n} \geq A_{n-1} \geq \cdots \geq A_{2} \geq A_{1} \geq 0, t_{1}, t_{2}, \cdots, t_{n-1} \geq 0$, then

$$
\begin{equation*}
A_{n}^{1+t_{n-1}} \geq\left\{A_{n}^{\frac{t_{n-1}}{2}}\left(A_{n-1}^{\frac{t_{n-2}}{2}} \cdots\left[A_{3}^{\frac{t_{2}}{2}}\left(A_{2}^{\frac{t_{1}}{2}} A_{1}^{p_{1}} A_{2}^{\frac{t_{1}}{2}}\right)^{p_{2}} A_{3}^{\frac{t_{2}}{2}}\right]^{p_{3}} \cdots A_{n-1}^{\frac{t_{n-2}}{2}}\right)^{p_{n-1}} A_{n}^{\frac{t_{n-1}}{2}}\right\}^{\frac{1+t_{n-1}}{\beta_{n-1}}} \tag{2.1}
\end{equation*}
$$

holds for $p_{1} \geq 1, p_{2} \geq \frac{1}{\beta_{1}}, p_{3} \geq \frac{1}{\beta_{2}}, \cdots, p_{n-1} \geq \frac{1}{\beta_{n-2}}$, where $\beta_{1}=p_{1}+t_{1}, \beta_{k}=\beta_{k-1} p_{k}+t_{k}, k=1,2, \cdots, n-1$.

Proof. If $n=2$, Theorem 2.1 is that $A_{2} \geq A_{1} \geq 0$ ensures $A_{2}^{1+t} \geq\left(A_{2}^{\frac{t}{2}} A_{1}^{p} A_{2}^{\frac{t}{2}}\right)^{\frac{1+t}{p+t}}$ for $p \geq 1$ and $t \geq 0$, which is just Furuta inequality.

If the theorem holds for $n=k$, then we have

$$
\begin{equation*}
A_{k}^{1+t_{k-1}} \geq\left\{A_{k}^{\frac{t_{k-1}}{2}}\left(A_{k-1}^{\frac{t_{k-2}}{2}} \cdots\left[A_{3}^{\frac{t_{2}}{2}}\left(A_{2}^{\frac{t_{1}}{2}} A_{1}^{p_{1}} A_{2}^{\frac{t_{1}}{2}}\right)^{p_{2}} A_{3}^{\frac{t_{2}}{2}}\right]^{p_{3}} \cdots A_{k-1}^{\frac{t_{k-2}}{2}}\right)^{p_{k-1}} A_{k}^{\frac{t_{k-1}}{2}}\right\}^{\frac{1+t_{k-1}}{\beta_{k-1}}} \tag{2.2}
\end{equation*}
$$

For $0<\frac{1}{1+t_{k-1}} \leq 1$, applying Löwner-Heinz inequality to $(2.2)$, we have

$$
\begin{equation*}
A_{k} \geq\left\{A_{k}^{\frac{t_{k-1}}{2}}\left(A_{k-1}^{\frac{t_{k-2}}{2}} \cdots\left[A_{3}^{\frac{t_{2}}{2}}\left(A_{2}^{\frac{t_{1}}{2}} A_{1}^{p_{1}} A_{2}^{\frac{t_{1}}{2}}\right)^{p_{2}} A_{3}^{\frac{t_{2}}{2}}\right]^{p_{3}} \cdots A_{k-1}^{\frac{t_{k-2}}{2}}\right)^{p_{k-1}} A_{k}^{\frac{t_{k-1}}{2}}\right\}^{\frac{1}{\beta_{k-1}}} \tag{2.3}
\end{equation*}
$$

Let $A=A_{k+1}, B=\left\{A_{k}^{\frac{t_{k-1}}{2}}\left(A_{k-1}^{\frac{t_{k-2}}{2}} \cdots\left[A_{3}^{\frac{t_{2}}{2}}\left(A_{2}^{\frac{t_{1}}{2}} A_{1}^{p_{1}} A_{2}^{\frac{t_{1}}{2}}\right)^{p_{2}} A_{3}^{\frac{t_{2}}{2}}\right]^{p_{3}} \cdots A_{k-1}^{\frac{t_{k-2}}{2}}\right)^{p_{k-1}} A_{k}^{\frac{t_{k-1}}{2}}\right\}^{\frac{1}{\beta_{k-1}}}$. Notice that $A=A_{k+1} \geq A_{k} \geq B, p_{k} \beta_{k-1} \geq 1, t_{k} \geq 0$. By Furuta inequality, we have

$$
\begin{equation*}
A^{1+t_{k}} \geq\left(A^{\frac{t_{k}}{2}} B^{p_{k} \beta_{k-1}} A^{\frac{t_{k}}{2}}\right)^{\frac{1+t_{k}}{p_{k} \beta_{k-1}+t_{k}}} \tag{2.4}
\end{equation*}
$$

Equation (2.4) is just

$$
\begin{equation*}
A_{k}^{1+t_{k}} \geq\left\{A_{k+1}^{\frac{t_{k}}{2}}\left\{A_{k}^{\frac{t_{k-1}}{2}} \cdots\left[A_{3}^{\frac{t_{2}}{2}}\left(A_{2}^{\frac{t_{1}}{2}} A_{1}^{p_{1}} A_{2}^{\frac{t_{1}}{2}}\right)^{p_{2}} A_{3}^{\frac{t_{2}}{2}}\right]^{p_{3}} \cdots A_{k}^{\frac{t_{k-1}}{2}}\right\}^{p_{k}} A_{k+1}^{\frac{t_{k}}{2}}\right\}^{\frac{1+t_{k}}{\beta_{k}}} \tag{2.5}
\end{equation*}
$$

Equation (2.5) means that theorem holds for $n=k+1$.
Corollary 2.2 ([13]). If $A_{3} \geq A_{2} \geq A_{1} \geq 0, t_{1}, t_{2} \geq 0$, then

$$
\begin{equation*}
A_{3}^{1+t_{2}} \geq\left[A_{3}^{\frac{t_{2}}{2}}\left(A_{2}^{\frac{t_{1}}{2}} A_{1}^{p_{1}} A_{2}^{\frac{t_{1}}{2}}\right)^{p_{2}} A_{3}^{\frac{t_{2}}{2}}\right]^{\frac{1+t_{2}}{\left(p_{1}+t_{1}\right) p_{2}+t_{2}}} \tag{2.6}
\end{equation*}
$$

holds for $p_{1} \geq 1, p_{2} \geq \frac{1}{p_{1}+t_{1}}$.
Remark 2.3. Corollary 2.2 is a known result which is proved in [13] by the method of operator monotonic function.

## 3. Application

In this section, we shall show the main result's application to Pedersen-Takesaki type operator equation. In order to prove the result, we list a lemma first.

Lemma 3.1 (1], Douglas Theorem). The following statements are equivalent.
(I) $B B^{*} \leq \lambda^{2} A A^{*}$, that is, $\left\|B^{*} x\right\| \leq \lambda\left\|A^{*} x\right\|$ for some $\lambda \geq 0$ and all $x \in \mathscr{H}$;
(II) There exists $C$ such that $B=A C$.

Moreover, $\|C\|^{2}=\inf \left\{u: B B^{*} \leq u A A^{*}\right\}$.
Next, we shall show the application.
Theorem 3.2. If there is a nonnegative integer $k$ such that $(k+1)\left(1+t_{n-1}\right)=\beta_{n-1}, t_{1}, t_{2}, \cdots, t_{n-1} \geq 0$, $p_{1} \geq 1, p_{2} \geq \frac{1}{\beta_{1}}, p_{3} \geq \frac{1}{\beta_{2}}, \cdots, p_{n-1} \geq \frac{1}{\beta_{n-2}}$, where $\beta_{1}=p_{1}+t_{1}, \beta_{k}=\beta_{k-1} p_{k}+t_{k}, k=1,2, \cdots, n-1$, then there exists a unique $X, X \geq 0$ with $\|X\| \leq 1$ satisfies the following equation,

$$
\begin{align*}
& \left(A_{n-1}^{\frac{t_{n-2}}{2}} \cdots\left[A_{3}^{\frac{t_{2}}{2}}\left(A_{2}^{\frac{t_{1}}{2}} A_{1}^{p_{1}} A_{2}^{\frac{t_{1}}{2}}\right)^{p_{2}} A_{3}^{\frac{t_{2}}{2}}\right]^{p_{3}} \cdots A_{n-1}^{\frac{t_{n-2}}{2}}\right)^{p_{n-1}}  \tag{3.1}\\
& \quad=A_{n}^{\frac{1}{2}}\left(X A_{n}^{1+t_{n-1}}\right)^{k} X A_{n}^{\frac{1}{2}}=A_{n}^{\frac{1}{2}} X\left(A_{n}^{1+t_{n-1}} X\right)^{k} A_{n}^{\frac{1}{2}}
\end{align*}
$$

where $A_{n} \geq A_{n-1} \geq \cdots \geq A_{2} \geq A_{1}>0$.

Proof. Applying Douglas Theorem to Theorem 2.1, there exists a unique operator $S$, such that $\|S\| \leq 1$ and

$$
\begin{equation*}
\left\{A_{n}^{\frac{t_{n-1}}{2}}\left(A_{n-1}^{\frac{t_{n-2}}{2}} \cdots\left[A_{3}^{\frac{t_{2}}{2}}\left(A_{2}^{\frac{t_{1}}{2}} A_{1}^{p_{1}} A_{2}^{\frac{t_{1}}{2}}\right)^{p_{2}} A_{3}^{\frac{t_{2}}{2}}\right]^{p_{3}} \cdots A_{n-1}^{\frac{t_{n-2}}{2}}\right)^{p_{n-1}} A_{n}^{\frac{t_{n-1}}{2}}\right\}^{\frac{1}{2(1+k)}}=A_{n}^{\frac{1+t_{n-1}}{2}} S=S^{*} A_{n}^{\frac{1+t_{n-1}}{2}} \tag{3.2}
\end{equation*}
$$

Let $X=S S^{*}$, then $X$ is unique, $\|X\| \leq 1$, and $X$ satisfies

$$
\begin{align*}
A_{n}^{\frac{t_{n-1}}{2}}\left(A_{n-1}^{\frac{t_{n-2}}{2}} \cdots\left[A_{3}^{\frac{t_{2}}{2}}\left(A_{2}^{\frac{t_{1}}{2}} A_{1}^{p_{1}} A_{2}^{\frac{t_{1}}{2}}\right)^{p_{2}} A_{3}^{\frac{t_{2}}{2}}\right]^{p_{3}} \cdots A_{n-1}^{\frac{t_{n-2}}{2}}\right)^{p_{n-1}} A_{n}^{\frac{t_{n-1}}{2}} & =\left(A_{n}^{\frac{1+t_{n-1}}{2}} X A_{n}^{\frac{1+t_{n-1}}{2}}\right)^{k+1} \\
& =A_{n}^{\frac{1+t_{n-1}}{2}}\left(X A_{n}^{1+t_{n-1}}\right)^{k} X A_{n}^{\frac{1+t_{n-1}}{2}}  \tag{3.3}\\
& =A_{n}^{\frac{1+t_{n-1}}{2}} X\left(A_{n}^{1+t_{n-1}} X\right)^{k} A_{n}^{\frac{1+t_{n-1}}{2}} .
\end{align*}
$$

Deleting $A_{n}^{\frac{1+t_{n-1}}{2}}$ from both sides of above equation, then we can obtain (3.1).
Remark 3.3. If $n=2$, Theorem 3.2 is just the main result in 6 .

## Acknowledgment

The work of J. Shi (corresponding author) is supported by Hebei Education Department (No. ZC2016009), Hebei University Funds for Distinguished Young Scientists and Natural Science Foundation of Shandong Province (No. BS2015SF006). The work of J. Han is supported by Natural Science Foundation of Shandong Province (No. BS2015SF006).

## References

[1] R. G. Douglas, On majorization, factorization, and range inclusion of operators on Hilbert space, Proc. Amer. Math. Soc., 17 (1966), 413-415. 3.1
[2] T. Furuta, $A \geq B \geq 0$ ensures $\left(B^{r} A^{p} B^{r}\right)^{1 / q} \geq B^{(p+2 r) / q}$ for $r \geq 0, p \geq 0, q \geq 1$ with $(1+2 r) q \geq p+2 r$, Proc. Amer. Math. Soc., 101 (1987), 85-88. 1.1
[3] T. Furuta, An extension of the Furuta inequality and Ando-Hiai log majorization, Linear Algebra Appl., 219 (1995), 139-155. 1.2
[4] T. Furuta, Further extension of an order preserving operator inequality, J. Math. Inequal., 2 (2008), 465-472. 1.3
[5] T. Furuta, Operator functions on chaotic order involving order preserving operator inequalities, J. Math. Inequal., 6 (2012), 15-31. 1.5
[6] C. S. Lin, On operator order and chaotic operator order for two operators, Linear Algebra Appl., 425 (2007), 1-6. 3.3
[7] C. S. Lin, Y. J. Cho, On Hölder-McCarthy-type inequalities with power, J. Korean Math. Soc., 39 (2002), 351-361. 1
[8] C. S. Lin, Y. J. Cho, On norm inequalities of operators on Hilbert space, Nova Sci. Publ., Hauppauge, (2003). 1
[9] C. S. Lin, Y. J. Cho, Characteristic property for nequalities of bounded linear operators, Nova Sci. Publ., New York, (2007). 1
[10] C. S. Lin, Y. J. Cho, Characterizations of the operator inequality $A \geq B \geq C$, Math. Inequal. Appl., 14 (2011), 575-580. 1
[11] C. S. Lin, Y. J. Cho, On log majorizations for positive semidefinite matrics, Math. Inequal. Appl., 16 (2013), 999-1007. 1
[12] C. Yang, Y. Wang, Further extension of Furuta inequality, J. Math. Inequal., 4 (2010), 391-398. 1.4
[13] C. Yuan, G. Ji, Extensions of Kadison's inequality on positive linear maps, Linear Algebra Appl., 436 (2012), 747-752. 2.2 2.3


[^0]:    *Corresponding author
    Email addresses: mathematic@126.com (Jian Shi), goodlucktotoro@126.com (Junmin Han)

